THRX B A O#ftat3 (2015/5/1317E)

X% TERX4A £ = H THH
FREHX FERHT 50 38 88 44
FREHX L {shET 21 26 47 19
FREHX {chET 15 19 34 18
FHE#EX ABT—TH 9 12 21 12
FHE#EX AET—TH 22 22 44 13
FAREHKX AET=-pMTH 22 24 46 27
FHEH#EX aHT 28 31 59 31
FHE#EX SHT 33 35 68 32
FAREHKX JCHET 41 64 105 48
FREHMKX v 36 38 74 37
FREHMKX EEHET 18 16 34 12
FHE#EX SEEMAT 21 30 51 23
FREHMKX T FHHET 39 50 89 44
FREMKX L FHT 40 42 82 45
FREHMKX JEHT 57 53 110 63
FHREMX LEE 20 40 60 30
FHREMKX THAE BT 16 30 46 24
FHREMX fin = BT 72 85 157 71
FHREMX N 393 424 817 382
FHREMX THRE 134 126 260 110
FHREMX fEAN 79 100 179 83
FHEBE#X fzs H 783 867 1,650 660
FHREMX W 89 115 204 78
FHREMX B 47 48 95 40
FHE#X RIBETRER 328 355 683 264
FHREMX R HET 331 448 779 307
FHREMX SE AT 56 61 117 56
FHEMX /1l 465 503 968 331

FHEMXET 3,265 3,702 6,967 2,904

HE X AREBTKZAR 272 284 556 228
HE X AHEP 119 109 228 78
HEHX apti] 132 141 273 100
HE X BB 100 117 217 80
HWEHX BB 87 107 194 91
HEHX i1l 12 11 23 8
WEHXET 722 769 1,491 585

RIEEHh X KHT 487 564 1,051 430
KiFh X 0 BT 209 251 460 192
KT #h X =E3 369 394 763 314
RIEEHh X Kl 64 76 140 50
KT #h X B E 66 72 138 53
KiFh X = 144 145 289 101
KT #h X ThaE 149 142 291 93
RIEEHh X i =l BT 150 156 306 120
RIEEHh X 7 FF 208 225 433 181
AT X RHEEF 331 369 700 300
RIFHh X FAAEF 378 411 789 376
RIFHh X REE 4 21 25 25
R X HEYNE 100 107 207 64
RiFh X HIUVHLE 518 502 1,020 387
R X 2DOULsE 576 579 1,155 340
AT X G505 0VFY 0 13 13 13
RIE#hX &t 3,753 4027 7,780 3,039
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X% TERX4A 5 X H THH
SL{EHX FrRET1X 145 185 330 171
SLTEH X FRET2X 328 415 743 355
SL{EHX T RET3X 225 228 453 214
SEHX IAfEE—TH 234 327 561 264
STEHX MAEBEZTH 250 293 543 229
STEHX IMAEE=TH 604 635 1,239 450
SLTEHX IMAEEMETH 112 165 277 136
SLTEHX =T 461 473 934 385
SL{EHX ) 314 344 658 278
SLTEHX iilede 748 840 1,588 617
SfEHX FTRETH AR 141 126 267 149
STEHX RIEIE 24 64 88 88

MTEH X ET 3,586 4,095 7,681 3,336

K HET =28 64 87 151 53
KRIIRHET INETR 59 75 134 50
K HET i 220 239 459 186
KIINHET il 50 46 96 44
KIINHET RIIALW 94 104 198 75
KIINHET 1IEAth 71 79 150 59
KIINHET &= H 104 124 228 84
KRBT ek 128 130 258 97
KR HET TE 234 243 477 200
KRINANETET 1,024 1,127 2,151 848

= JIET f2H 49 52 101 33
21|87 Nib) 27 32 59 18
28y T8 23 27 50 21
2/ ET KEJ| 106 119 225 86
21|87 B 50 51 101 42
L) IBE 168 190 358 146
=L INEI 105 97 202 82
=L Nika) 118 126 244 100
L) 2i8 38 43 81 39
L) ¥R 60 74 134 51
2118 &K 25 26 51 21
21|87 ES 21 20 41 10
28y v =| 31 36 67 22
28y £H 35 47 82 26
28y TtE 37 37 74 25
2 JIET vty 99 121 220 65
2 JIET RE 50 52 102 27
=L BEFH 76 106 182 55
2 JIET 2 ¥ H i 480 242 722 404
=BT HWEER 3 10 13 13
2B 1,601 1,508 3,109 1,286
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X% TERX4A £ = H THH

K % 2 HT Ki5 109 110 219 64
iR % EET BES 10 14 24 11
K % 2 HT [GEis 96 108 204 67
K % 2 ET HEFE 46 54 100 42
iR % EET HA 42 39 81 25
K % i 2ET N 58 67 125 37
K % i 2HT EEBIE 39 37 76 23
K % i 2HT fl 66 60 126 44
K % 2 HT puipE:S 57 62 119 44
R % EET REF 102 109 211 63
R % EET EE 65 55 120 39
R %EET R 51 65 116 36
R %EET pus 94 80 174 53
K % 2HT A 340 355 695 251
K %ERTET 1,175 1,215 2,390 799

€L lll 51 57 108 30
€L THE 133 134 267 74
€L KINE 110 139 249 74
€L INEIR 46 43 89 28
€L 8T 66 87 153 50
€L 8L 140 148 288 88
€L [REE 143 153 296 93
€L HFH 211 214 425 150
€L =i 59 74 133 42
€L Bth 1 1 2 1
€L pN: 50 50 100 28
€L K& 70 76 146 50
€L mE 63 57 120 30
€L A0 37 42 79 23
EREL ERi 55 70 125 33
R Z BT ET 1,235 1,345 2,580 794

KJIIBT B 166 179 345 141
KJIET B 54 53 107 49
KIIET FaI 88 91 179 62
KJIET HF0O 105 101 206 57
KIIET &% 94 111 205 67
K BT JII7E 97 101 198 66
KIJIIBT HoB 0 0 0 0
KIJIET Eqng 151 163 314 101
KIIET Sz 213 246 459 175
KJIET e 101 114 215 64
KIINET HEAR 52 54 106 35
KIINET R 77 91 168 61
KINETET 1,198 1,304 2,502 878
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X% TERX4A £ = H THH
L] E¥) 122 130 252 93
L] LR 58 59 117 42
L] T4 213 261 474 194
N T 95 118 213 91
N =] 36 48 84 28
N IR 59 71 130 46
N P2 81 83 164 57
N = 108 113 221 78
N ABK 37 32 69 27
N (EX2) 105 132 237 89
N k) 101 112 213 72
N hiE 86 90 176 59
N £RR 60 55 115 41

FAHETET 1,161 1,304 2,465 917

oy H/\A# 771 879 1,650 706
—EHr FwI\AE 248 257 505 208
—EHr JIEE 760 801 1,561 685
—EBHT KE 568 573 1,141 424
—EHr s 106 100 206 102
—EBH AN E5 104 127 231 97
—EHr EK 187 245 432 187
—EBH EHF 96 104 200 85
—EBHT f H 66 83 149 61
—EHr =i 54 64 118 46
—BH A 59 65 124 50
—EBHT aF 35 38 73 34
—BHETEt 3,054 3,336 6,390 2,685

B HET ] 558 597 1,155 473
B LK HET f2%0 70 56 126 53
B LK HET Rk 1,054 1,060 2,114 830
B LK HET HE 74 70 144 51
B LK HET X 83 85 168 74
B LK HET 5 180 201 381 141
HILAHET SENINA 156 183 339 134
B LK HET HAAR 94 93 187 80
B LK HET RAR 190 214 404 153
B LK HET =2iE 155 192 347 160
B LK HET ER 63 79 142 69
B HET 7 9 8 17 8
B HET EINA 88 82 170 79
HILAHET ToE 5 8 13 7
HILAHET JIIREF 88 90 178 65
HILAHET H il 9 4 13 4
B ILABTET 2,876 3,022 5,898 2,381

4/5



THRX B A O#ftat3 (2015/5/1317E)

X% TERX4A 5 X H THH
WHCHET WAE 278 314 592 273
WHCHET WA 430 459 889 398
WHCHET =R 54 69 123 53
i ET 3 74 82 156 65
AT [E5 53 52 105 45
WAHCHET Ba 131 158 289 137
i ET AR—X 233 231 464 187
WAHCHET ARZRX 363 396 759 343
AT ABR=ZX 116 129 245 111
K ET A ) 162 178 340 161
AT JIE 99 130 229 118
AT iAE 111 117 228 92
AT @ 108 129 237 127
K ET Ficha) 129 115 244 90
WACHET BARAR 40 38 78 33
I ACHET e ] 42 38 80 27
A ET E¥) 55 56 111 46

W ET & 2,478 2,691 5,169 2,306
Y 27,128 29445 56573| 22,758
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